Tutorial 3: MS Spectrum
Interpretation
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Practice 1

In this peptide, both
lysine residues are
acetylated (+42),
please use “arrows and
labels” to assign as

209.2 many b- and y-ions as
» possible in this MS/MS
% | spectrum.
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In this peptide, both lysine residues are acetylated (+42), please use “arrows
and labels” to assign as many b- and y-ions as possible in this MS/MS spectrum.
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Practice 2

* Figure a 1s the full scan MSI spectrum of a mixture 3
of tryptic peptides. The inset 1s the 1sotopic peak of a |

690.87

691.37
90%)

modified 12-residue peptide. The modification 1s either

80%)

methylation or acetylation. To 1dentify the amino acid o157

70%

sequence and the type of modification, the precursor 59237

60% VA

ions of the modified 12-residue peptide are selected for

50%

CID fragmentation and analyzed in the second MS | o008
analyzer. The tandem mass spectrum 1s shown in Figure |,
b. Using the spectra and the information provided, |,

answer the following questions: 10%

1) What is the mass of the modified peptide? What1s | "6 50 w0 e a0 om0
the charge of this peptide?




11) Determine the type and location of the modification.

111) Determine the full sequence of the modified sequence. Can you assign the
sequence with this data alone? If not, what technique can be used to help you

1dentify the full sequence?
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